E350 REARFA—-TVINEIV YRS 70 6 45298
RS 2=y 25—
<tsExR>
ADSR (U—=T8RTH, REBEDD)
A-1  |NESVRVE| UF/BH | ATUPH |S<BE00|  RE 50 | m |
A - - - - - .
=1 [ 71 1 )
— — — — — B
LT 1 BE - - - - - s
(] 5] T = o]
ANFI7P+ ~ _ _ — _ s
[0 ] ] ] 7] )
S<BFEDI0| - - - - N
7 e =N 15 =
En =n En 5 A
50's - - - - - o
7] o] (7] 5] (] )
A-2 PUR—=A KE= mM3ave | F-LARE KBG TOB AT B |
PIR—=A — _ _ _ - o
BER o] — — — )
KSR - - - - i
[17] ] | 7] 5] i
M3t - - - _ _ -
0] ] ] 5 za )
FoLER | - - - - N
7 i =N 5] 5
KBG - - - - N
=] = ] 75 =R )
ZOB50AT - - - - - s
] o] 7] ] 7] )
AD S RS,
114
@ I

2-1fi




F£350 BEAWMA—TVYNRIVRYVARSE 2% 6% 45298
WEHREAR—Yt vy —
<HBtEx>
BOSR (=D TH, RBEEHO)
B-1 HBDST | MABERE | TVIY 1)U |average35| 4 4 ?% e Goziu FET3RIE | s | e
- - - - — — B
B> - - - - - Sl
A 5] 761 721 20] 7] 3
— — —_ — —_ —_ 1=}
RASRE | - - - - - N
71 5] EER o] 771 7] )
- - - - — — B
TYIIlb | - - - - - i
5] [5] 2] 8] 7] 7] )
— —_ — — —_ —_ 1=}
average35 - - - - - - N
[76] [75] = 5] o] o] )
AE - - - - - = |m
F1FRA|  C - - - - s
771 5] (7] 5] EER 5]
— —_ —_ — —_ —_ 1=}
Goziu - - - - - i
[20] [77] [77] [70] [5] 7] )
- - - - - — B
METHS | - - - - - - -
=] [27] (7] [7o] [75] 7] ﬁ
B-2 | x8557 'SE;%?K LT IN—R| FoLAkD | JU—8n|  KSF SEAn | |Eo
N - - - —_ - — 1=}
SR - - - - - sl
A R 751 7] =2l 7] )
RE-SB & - - _ - - - -
EE) - - - - - =
7 5] 3] CE 7] 57
— —_ — —_ — —_ 1=}
UTAN=F - - - - - S
5] 5 = 5] 7] 7] .
F-LRD | - - - - - i
T el sl 7 -1 el e T
N - - - - —_ — 1=}
JU=FL| - - - - - S
[72] [o] [75] (] A 5] )
KSF - - - _ - i L
[ 7l [GE]  [Ge]l  [F] — |7
- - - — - —_ B
SEZD - - - - - - .
7] [57] [77] [79] [75] a )
BD S RS
1-1fk
@ I

2-1{1




E350 REARFA—-TVINEIV YRS 70 6 45298
RS 2=y 25—
<tApEEzx>
COSR (U—DUERTE, REEDD)
C-1 PlE A AA =1l B/ \ RIKIE | Senior Citizen| B8 | NEfI
. — — — — — B
BER o] ] ] ]
BRA - - - - _ %
EER 5 7 ] 5]
(10 7 ] ] R )
Bl - - - - S
A i = ] ]
BINRKR | - - - - - |
N [ (5 (15 17 ] )
Senior Citizen - - - - - o
s s ezs s = )
C-2 |vu-F-uk|9517-2| wvr— |9g22% | caB 7O0s | e |
. — — —_ —_ — PR
QU—J—JLk - - - - -,
BER| o] — — — "
JIAT=A - - - i
BER ] 7] ] ] )
N —_ — —_ —_ — PR
NST— - - - - i
7] & R 5] za )
SEossEmE| - - - - |
s B s B = [ |
G&B - - - - N
7 = ] B =R )
, —_ — — —_ — PR
70s - - - - = o
[ [ (17 [ [z )
CO SRR
114
@ I

2-1fi




E£350 RBEAWMA—TVINEIVERIVARAE S 6% 48298
ETHE R— Y8 —
<HHEExR>
D2 X
= BRI\ R & SE->HB & e B
D §Eo5424| ey B B BeEg | M
=N - - —_ iz 3=
SEo>H £24 — — _ "
— — — B
1 3 5
_ — — 5=
BINR&LUEVX — _ _
_ — — [EES
1 6 4
_ — — iz g
ISE o5 KERER — — —
_ — — (o2 S
3 6 2
e — — — B
5B — — — o
— — — 1=
5 4 2




